11”15 (Kl 17%15)

C/b\g Linearized knot diagam

/—\5\1—4’

(LN

(\m/l/‘\ 5 1 9 2 3 10 11 3 1 7 8
11

—

U Solving Sequence

7’11;’8?173?2?10?6?5?4?9ﬁ>61,63,08
A knot diagranﬂ RS 2 G0 Ce 5 4 9

Ideals for irreducible component#ﬂ)f Xpar

It =30 — 50"+ 420+ 1, 4 — T+ 20+ 1, P -3 - 1)
I'=(au+b—a, a*>+au+a+u+2, v>+u—1)

* 2 irreducible components of dim¢ = 0, with total 25 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I

I = (3u?*—5u'+. . -+ 2b+1, 4u?°—Tu'?+- . -4+2a+1, v?'—3u?°+...—u—1)

(i) Arc colorings

0
ailr = \u
1
a8: u2
—Uu
ar= \—ud+u
72u20+§u19+~ 4u7%1
as = f%u20+§u19+'~f%u75
—%uQO +2ul? + + 22 — %u
a2 = —%uQO +dut? + . — %u -1
U
aio = \u
—u?+1
a6: _u2
( %ulg—ulg—F” —|—3u+% >
= (1720 1,19 3 1
as su? — su +...+§u+§
—4u20+11u19+' _3u_z
ay = (_123u20_|_ 1u19+~-—125u—23>
—ud +2ud +u
ag = \ —u” +3u® —2u +u

—ud 4+ 2ud +u
ag = \—u’ +3u® —2u® +u
(ii) Obstruction class = —1

(iii) Cusp Shapes

= %u% — 11u!® — 57u!® + 87ul” 4+ 209416 — 43—91;15 — 462utt + %ul?’ + %uu +

258u!! — 713u!0 — 190840 + 17408 + 35307 + 160u’ — 101u° + Ju' — 77 + 13u® — Ju+4



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cq W43 —u—1
€2 w4500 . —13u—1
C3,Cs W — w4 4 16u+ 16
cs u?t —3u + .- — 517u — 241
Cg,C7,C10 u21+3u20+'~7u+1
11
€9 w? — w4+ 3u+ 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4 y 5y o — 13y —1
C2 P 425y . 4 31y — 1
c3,C8 y?t — 25970 + ... 4 1408y — 256
Cs y? 4+ 45y%0 + ... — 1228357y — 58081
€6, C7, C10 y?t =23y oy —1
11
Cg y21+37y20+_y_1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = —0.586384 4 0.7846331
a = —0.273404 — 1.2481807
b= 0.731733 + 0.8937461

9.06037 + 6.009971

—1.49297 — 4.917021

u = —0.586384 — 0.7846331
a = —0.273404 + 1.2481801
0.731733 — 0.8937461

9.06037 — 6.009971

—1.49297 4- 4.917021

—0.502427 +4- 0.8108901
0.300534 + 0.9222231
—1.209200 — 0.6643761

9.31347 — 0.731581

—0.878702 — 0.1438291

—0.502427 — 0.8108901
0.300534 — 0.9222231
= —1.209200 + 0.6643761

9.31347 4 0.731581

—0.878702 4 0.1438291

1.30058
—0.779544
—0.0623998

—2.53925

—3.24500

0.650843 + 0.1881351
—0.679014 — 0.4979491
0.257058 + 0.1022891

—1.259870 — 0.4265321

—8.18330 + 0.830821

0.650843 — 0.1881351
—0.679014 4 0.4979491
0.257058 — 0.1022891

—1.259870 + 0.4265321

—8.18330 — 0.830821

—1.349430 + 0.0634631
0.17958 — 2.262631
—0.08959 — 2.877501

—3.34560 + 2.920641

—6.05745 — 2.897891

—1.349430 — 0.0634631
0.17958 + 2.262631
—0.08959 + 2.877501

—3.34560 — 2.920641

—6.05745 4 2.897891

1.45264 + 0.098031
= 0.354434 — 0.6322001

b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b= —0.288153 — 1.0613601

—6.20743 — 3.923231

—7.50265 + 3.865711




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

1.45264 — 0.098031
a= 0.354434 + 0.6322001
b= —0.288153 + 1.0613601

u =

—6.20743 + 3.923231

—7.50265 — 3.865711

u= 151579 4 0.302681
a = —1.36198 + 1.359661
b= —2.52269 + 1.321321

2.78944 — 3.348331

—3.65691 + 0.922941

uw= 1.51579 — 0.302681
a = —1.36198 — 1.359661
b= —2.52269 — 1.32132]

2.78944 +- 3.348331

—3.65691 — 0.922941

0.033690 + 0.4331181
a = —1.030760 — 0.7109591
b= —0.333491 + 0.7308901

u =

0.87590 — 1.408701

1.21226 + 3.905361

0.033690 — 0.4331181
a = —1.030760 + 0.7109591
b = —0.333491 — 0.7308901

u =

0.87590 + 1.408701

1.21226 — 3.905361

1.56509 + 0.277211
a= 1.22824 —1.653271
b= 2.69420 — 2.244611

u =

2.01164 — 9.948051

—4.72572 + 5.383001

1.56509 — 0.277211
a= 1.22824 +1.653271
b= 2.69420 + 2.244611

2.01164 + 9.948051

—4.72572 — 5.383001

u = —0.317530 + 0.2578741
a= 2.02998 — 0.420481
b= 10.636210 — 0.4037481

—0.37325 + 2.559751

0.64804 — 6.581881

u = —0.317530 — 0.2578741
2.02998 + 0.420481

a =

—0.37325 — 2.559751

0.64804 + 6.581881

b= 10.636210 + 0.4037481

u = —1.61257 4 0.038611

a= 0.642150 — 0.7792741 | —9.12765 + 1.232571 | —9.74011 + 3.008091
b= 1.15512 —1.578331




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

U
a
b

= —1.61257 — 0.038617

0.642150 + 0.7792741
1.15512 + 1.578331

—9.12765 — 1.232571

—9.74011 — 3.008091




II. IY = (au+b—a, a®>+aut+a+u+2, u ! +u—1)

(i) Arc colorings

—au—|—2a)

a+2u—+1
—au+a—+2u—1

aq =

ag =

1
9 = \—~u+1

(ii) Obstruction class =1

(iii) Cusp Shapes = —bau + 2a + u — 8



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C2,C5 (u? +u+1)2
C3,C8 u?
€4 (u? —u+1)2
C65 C75 C9 (u? +u —1)?
€10, €11 (u? —u—1)2




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Cyq (y2+y+1)2
cs
C3,C8 314
Cg, C7,C9 (yQ _ 3y + 1)2
€10, C11

10



(vi) Complex Volumes and Cusp Shapes

Solutions to I3 v—1(vol + /—1C5) Cusp shape

= 0.618034

= —0.80902 + 1.401261 —0.98696 + 2.029881 | —6.50000 — 1.527611
= —0.309017 + 0.5352331

= 0.618034

= —0.80902 — 1.401261 —0.98696 — 2.029881 | —6.50000 + 1.527611
= —0.309017 — 0.5352331

= 0.309017 + 0.5352331 | —8.88264 — 2.029881 | —6.50000 + 5.400591
= 0.80902 + 1.401261

= —1.61803
= 0.309017 — 0.5352331 | —8.88264 + 2.029881 | —6.50000 — 5.400591

U
a
b
U
a
b
u = —1.61803
a
b
U
a
b= 0.80902 — 1.401267

11



ITI. u-Polynomials

Crossings u-Polynomials at each crossing
1 (W +u+ 1)) +3u® 4+ —u—1)
& (0 +u+1)*) (W +5u® + - = 13u — 1)
3, Cs ut(u?t — w4 -+ 16u + 16)
ca (0 —u+ 1)) (W +3u™ 4 - —u—1)
€5 (u? +u+ 1)) —3u? 4 .- —517u — 241)
Cce, C7 (W 4u—-1)Hw +3u® +- —u+1)
Co (2 +u—12) ! —u® 4+ 4 3u+1)
€10, €11 (W —u—1DHW? +3u 4+ —u+1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1s ¢ (2 +y+ 1)) +5y +- — 13y — 1)
“ (2 +y+ 1))y + 2592 + - + 31y — 1)
c3, s y*(y*' — 2590 + -+ + 1408y — 256)
C5 (2 +y +1)?) (1" + 455> + - .- — 1228357y — 58081)
C6,C7,C10 ((y2_3y+1)2)(y21 _23y20+_“_y_1)
C11
% (" =3y + 1) (™ + 379>+ —y — 1)
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